

There have been some results for some eigenvalues problems of systems of equations. Mokeichev [8] derive some expressions for eigenvalues of a system of equations in Hilbert space. Kostenko [5] investigated the spectrum of a system of second-order differential equations. In 2011, Jia, Huang and Liu [4] established the following inequalities for eigenvalues of problem (1.1):

$$\sum_{r=1}^k \frac{\lambda_r^{1/l}}{\lambda_{k+1} - \lambda_r} \geq \frac{\zeta \tau^2 k^2}{4l(2l-1)\zeta \sigma^2} \left(\sum_{r=1}^k \lambda_r^{1-1/l} \right)^{-1} \quad (1.5)$$

and

$$\lambda_{k+1} \leq \left[1 + \frac{4l(2l-1)\zeta \sigma^2}{\zeta \tau^2} \right] \lambda_k. \quad (1.6)$$

The goal of this paper is to give some sharper estimates for eigenvalues of problem (1.1). We first establish the following inequality.

Theorem 1.1. *Let λ_r be the r th eigenvalue of problem (1.1). Suppose that the coefficients $a_{ij}(x)$, $i, j = 1, 2, \dots, n$, and the weight function $\rho(x)$ satisfy (1.2), (1.3) and (1.4). Then we have*

$$\sum_{r=1}^k (\lambda_{k+1} - \lambda_r)^2 \leq \frac{4l(2l-1)\zeta \sigma^2}{\zeta \tau^2} \sum_{r=1}^k (\lambda_{k+1} - \lambda_r) \lambda_r. \quad (1.7)$$

Furthermore, making a modification in the proof of Theorem 1.1, we can obtain another inequality.

Theorem 1.2. *Under the same assumptions as Theorem 1.1, we have*

$$\begin{aligned} & \sum_{r=1}^k (\lambda_{k+1} - \lambda_r)^2 \leq \\ & \leq 2 \left[\frac{l(2l-1)\zeta \sigma^2}{\zeta \tau^2} \right]^{1/2} \left[\sum_{r=1}^k (\lambda_{k+1} - \lambda_r) \lambda_r^{1/l} \right]^{1/2} \left[\sum_{r=1}^k (\lambda_{k+1} - \lambda_r)^2 \lambda_r^{1-1/l} \right]^{1/2}. \end{aligned} \quad (1.8)$$

Remark 1.1. When $l = 1$, (1.7) and (1.8) all become

$$\sum_{r=1}^k (\lambda_{k+1} - \lambda_r)^2 \leq \frac{4\zeta \sigma^2}{\zeta \tau^2} \sum_{r=1}^k (\lambda_{k+1} - \lambda_r) \lambda_r.$$

When $l \geq 2$, inequality (1.7) is better than (1.8). In fact, inequality (1.7) is always Yang-type (see [1, 9, 10]) for any l . Using Chebyshev's inequality, it is not difficult to get (1.5) from (1.8). That is to say, (1.8) and (1.7) is sharper than (1.5).

Using (1.7), we can derive some explicit estimates for upper bounds of eigenvalues and gaps of consecutive eigenvalues. In fact, noting that (1.7) is a quadratic inequality of λ_{k+1} , we can obtain the following two corollaries.

Corollary 1.1. *Under the same assumptions of Theorem 1.1, we have*

$$\lambda_{k+1} \leq \left[1 + \frac{2l(2l-1)\zeta \sigma^2}{\zeta \tau^2} \right] \frac{1}{k} \sum_{r=1}^k \lambda_r +$$

$$+ \left\{ \left[\frac{2l(2l-1)\zeta\sigma^2}{\varsigma\tau^2} \frac{1}{k} \sum_{r=1}^k \lambda_r \right]^2 - \left[1 + \frac{4l(2l-1)\zeta\sigma^2}{\varsigma\tau^2} \right] \frac{1}{k} \sum_{s=1}^k (\lambda_s - \frac{1}{k} \sum_{r=1}^k \lambda_r)^2 \right\}^{1/2}. \quad (1.9)$$

Using the Cauchy–Schwarz inequality, we can get the following inequality from (1.9).

Corollary 1.2. *Under the same assumptions of Theorem 1.1, we have*

$$\lambda_{k+1} \leq \left[1 + \frac{4l(2l-1)\zeta\sigma^2}{\varsigma\tau^2} \right] \frac{1}{k} \sum_{r=1}^k \lambda_r. \quad (1.10)$$

Remark 1.2. Inequalities (1.9) and (1.10) give some estimates for upper bounds of λ_{k+1} in terms of the first k eigenvalues of problem (1.1). Moreover, it is easy to find that (1.10) implies (1.6).

At the same time, an explicit estimate for the gaps of any two consecutive eigenvalues of problem (1.1) can be obtained from (1.9).

Corollary 1.3. *Under the same assumptions of Theorem 1.1, we have*

$$\begin{aligned} \lambda_{k+1} - \lambda_k \leq & 2 \left\{ \left[\frac{2l(2l-1)\zeta\sigma^2}{\varsigma\tau^2} \frac{1}{k} \sum_{r=1}^k \lambda_r \right]^2 - \right. \\ & \left. - \left[1 + \frac{4l(2l-1)\zeta\sigma^2}{\varsigma\tau^2} \right] \frac{1}{k} \sum_{s=1}^k (\lambda_s - \frac{1}{k} \sum_{r=1}^k \lambda_r)^2 \right\}^{1/2}. \end{aligned} \quad (1.11)$$

2. Proofs of the main results. Let

$$\mathbf{u} = \begin{pmatrix} u_1(x) \\ \vdots \\ u_n(x) \end{pmatrix}, \quad D^l \mathbf{u} = \begin{pmatrix} D^l u_1(x) \\ \vdots \\ D^l u_n(x) \end{pmatrix}, \quad A(x) = \begin{pmatrix} a_{11}(x) & \dots & a_{1n}(x) \\ \dots & \dots & \dots \\ a_{n1}(x) & \dots & a_{nn}(x) \end{pmatrix}.$$

Then we can rewrite problem (1.1) as the following simpler form:

$$\begin{aligned} (-1)^l D^l (A(x) D^l \mathbf{u}) &= \lambda \rho \mathbf{u}, \quad \text{on } [a, b], \\ D^t \mathbf{u}(a) &= D^t \mathbf{u}(b) = 0, \quad \text{for } t = 0, 1, \dots, l-1. \end{aligned} \quad (2.1)$$

In order to prove the main theorems, we first establish a general inequality for eigenvalues of problem (2.1).

Lemma 2.1. *Let $\mathbf{u}_r = (u_{r1}(x), u_{r2}(x), \dots, u_{rn}(x))^T$ be the weighted orthonormal eigenvector corresponding to the r th eigenvalue λ_r of problem (1.1) for $r = 1, 2, \dots, k$. Then we have*

$$\begin{aligned} & \sum_{r=1}^k (\lambda_{k+1} - \lambda_r)^2 \int_a^b |\mathbf{u}_r|^2 dx \leq \\ & \leq \sum_{r=1}^k \delta_r (\lambda_{k+1} - \lambda_r)^2 \omega_r + \sum_{r=1}^k \frac{1}{\delta_r} (\lambda_{k+1} - \lambda_r) \int_a^b \frac{1}{\rho} |D \mathbf{u}_r|^2 dx, \end{aligned} \quad (2.2)$$

where the positive constants δ_r , $r = 1, \dots, k, \dots$, construct a nonincreasing sequence and

$$\omega_r = l^2 \int_a^b D^{l-1} \mathbf{u}_r^T A(x) D^{l-1} \mathbf{u}_r dx - l(l-1) \int_a^b D^l \mathbf{u}_r^T A(x) D^{l-2} \mathbf{u}_r dx.$$

Proof. According to (2.1) and the assumptions of Lemma 1, the weighted orthonormal eigenvector \mathbf{u}_r satisfies

$$\begin{aligned} (-1)^l D^l (A(x) D^l \mathbf{u}_r) &= \lambda_r \rho \mathbf{u}_r, \\ D^t \mathbf{u}_r(a) &= D^t \mathbf{u}_r(b) = 0, \\ \int_a^b \rho \mathbf{u}_r^T \mathbf{u}_s dx &= \delta_{rs}, \end{aligned} \tag{2.3}$$

for $r, s = 1, \dots, k$ and $t = 0, 1, \dots, l-1$. We define the trial vectors Φ_r by

$$\Phi_r = x \mathbf{u}_r - \sum_{s=1}^k b_{rs} \mathbf{u}_s, \tag{2.4}$$

where

$$b_{rs} = \int_a^b \rho x \mathbf{u}_r^T \mathbf{u}_s dx = b_{sr}. \tag{2.5}$$

Then we know that Φ_r is weighted orthogonal with \mathbf{u}_s . That is to say

$$\int_a^b \rho \Phi_r^T \mathbf{u}_s dx = 0, \quad \text{for } r, s = 1, \dots, k. \tag{2.6}$$

It yields

$$\int_a^b \rho \Phi_r^T x \mathbf{u}_r dx = \int_a^b \rho |\Phi_r|^2 dx. \tag{2.7}$$

Since

$$\begin{aligned} &D^l [a_{ij}(x) D^l (x u_{rj}(x))] = \\ &= l D^l (a_{ij}(x) D^{l-1} u_{rj}(x)) + D^l (a_{ij}(x) x D^l u_{rj}(x)) = \\ &= l D^l (a_{ij}(x) D^{l-1} u_{rj}(x)) + l D^{l-1} (a_{ij}(x) D^l u_{rj}(x)) + x D^l (a_{ij}(x) D^l u_{rj}(x)), \end{aligned}$$

we can deduce

$$D^l (A(x) D^l \Phi_r) = D^l [A(x) D^l (x \mathbf{u}_r)] - \sum_{s=1}^k b_{rs} D^l (A(x) D^l \mathbf{u}_s) =$$

$$\begin{aligned}
&= lD^l(A(x)D^{l-1}\mathbf{u}_r) + lD^{l-1}(A(x)D^l\mathbf{u}_r) + xD^l(A(x)D^l\mathbf{u}_r) - \\
&\quad - \sum_{s=1}^k b_{rs}D^l(A(x)D^l\mathbf{u}_s) = \\
&= lD^l(A(x)D^{l-1}\mathbf{u}_r) + lD^{l-1}(A(x)D^l\mathbf{u}_r) + (-1)^l\lambda_r\rho x\mathbf{u}_r - (-1)^l\sum_{s=1}^k b_{rs}\lambda_s\rho\mathbf{u}_s. \quad (2.8)
\end{aligned}$$

Using (2.6), (2.7), and (2.8), we have

$$\begin{aligned}
&\int_a^b \Phi_r^T D^l(A(x)D^l\Phi_r) dx = \\
&= \int_a^b \Phi_r^T \left[D^l(A(x)D^{l-1}\mathbf{u}_r) + D^{l-1}(A(x)D^l\mathbf{u}_r) \right] dx + (-1)^l\lambda_r \int_a^b \rho|\Phi_r|^2 dx. \quad (2.9)
\end{aligned}$$

Substituting (2.9) into the Rayleigh–Ritz inequality

$$\lambda_{k+1} \leq \frac{(-1)^l \int_a^b \Phi_r^T D^l(A(x)D^l\Phi_r) dx}{\int_a^b \rho|\Phi_r|^2 dx},$$

we obtain

$$\begin{aligned}
&(\lambda_{k+1} - \lambda_r) \int_a^b \rho\Phi_r^2 dx \leq \\
&\leq (-1)^l \int_a^b \Phi_r^T \left[D^l(A(x)D^{l-1}\mathbf{u}_r) + D^{l-1}(A(x)D^l\mathbf{u}_r) \right] dx = \\
&= (-1)^l \int_a^b x\mathbf{u}_r^T \left[D^l(A(x)D^{l-1}\mathbf{u}_r) + D^{l-1}(A(x)D^l\mathbf{u}_r) \right] dx + \sum_{s=1}^k b_{rs}c_{rs}, \quad (2.10)
\end{aligned}$$

where

$$c_{rs} = (-1)^{l+1} \int_a^b \mathbf{u}_s^T \left[D^l(A(x)D^{l-1}\mathbf{u}_r) + D^{l-1}(A(x)D^l\mathbf{u}_r) \right] dx.$$

It is easy to find that $c_{rs} = -c_{sr}$.

Using integration by parts and making use of (2.3), we have

$$\lambda_r b_{rs} = \int_a^b x\mathbf{u}_s^T \left[(-1)^l D^l(A(x)D^l\mathbf{u}_r) \right] dx = (-1)^l \int_a^b \mathbf{u}_r^T D^l \left[A(x)D^l(x\mathbf{u}_s) \right] dx =$$

$$\begin{aligned}
&= (-1)^{l-1} \int_a^b \mathbf{u}_r^T \left[D^l(A(x)D^{l-1}\mathbf{u}_s) + D^{l-1}(A(x)D^l\mathbf{u}_s) \right] dx + \\
&\quad + (-1)^l \int_a^b x \mathbf{u}_r^T D^l(A(x)D^l\mathbf{u}_s) dx = \lambda_s b_{rs} - c_{sr}.
\end{aligned}$$

It yields

$$c_{rs} = (\lambda_r - \lambda_s) b_{rs}. \quad (2.11)$$

At the same time, we get

$$\begin{aligned}
&(-1)^{l-1} \int_a^b x \mathbf{u}_r^T \left[D^l(A(x)D^{l-1}\mathbf{u}_r) + D^{l-1}(A(x)D^l\mathbf{u}_r) \right] dx = \\
&= l \int_a^b D^{l-1}\mathbf{u}_r^T A(x)D^l(x\mathbf{u}_r) dx - l \int_a^b D^l\mathbf{u}_r^T A(x)D^{l-1}(x\mathbf{u}_r) dx = \\
&= l^2 \int_a^b D^{l-1}\mathbf{u}_r^T A(x)D^{l-1}\mathbf{u}_r dx + l \int_a^b x D^{l-1}\mathbf{u}_r^T A(x)D^l\mathbf{u}_r dx - \\
&- l(l-1) \int_a^b D^l\mathbf{u}_r^T A(x)D^{l-2}\mathbf{u}_r dx - l \int_a^b x D^l\mathbf{u}_r^T A(x)D^{l-1}\mathbf{u}_r dx = \omega_r, \quad (2.12)
\end{aligned}$$

where

$$\omega_r = l^2 \int_a^b D^{l-1}\mathbf{u}_r^T A(x)D^{l-1}\mathbf{u}_r dx - l(l-1) \int_a^b D^l\mathbf{u}_r^T A(x)D^{l-2}\mathbf{u}_r dx.$$

Substituting (2.11) and (2.12) into (2.10), we derive

$$(\lambda_{k+1} - \lambda_r) \int_a^b \rho |\Phi_r|^2 dx \leq \omega_r + \sum_{s=1}^k (\lambda_r - \lambda_s) b_{rs}^2. \quad (2.13)$$

It is not hard to find

$$\int_a^b x \mathbf{u}_r^T D\mathbf{u}_r dx = -\frac{1}{2} \int_a^b |\mathbf{u}_r|^2 dx. \quad (2.14)$$

Hence, using integration by parts again, we obtain

$$-2 \int_a^b \Phi_r^T D\mathbf{u}_r dx = -2 \int_a^b \mathbf{x} \mathbf{u}_r^T D\mathbf{u}_r dx + 2 \sum_{s=1}^k b_{rs} d_{rs} = \int_a^b |\mathbf{u}_r|^2 dx + 2 \sum_{s=1}^k b_{rs} d_{rs}, \quad (2.15)$$

where

$$d_{rs} = \int_a^b \mathbf{u}_s^T D\mathbf{u}_r dx = -d_{sr}.$$

On the other hand, we have

$$\begin{aligned} & -2(\lambda_{k+1} - \lambda_r)^2 \int_a^b \Phi_r^T D\mathbf{u}_r dx = \\ & = -2(\lambda_{k+1} - \lambda_r)^2 \int_a^b \sqrt{\rho} \Phi_r^T \left(\frac{1}{\sqrt{\rho}} D\mathbf{u}_r - \sqrt{\rho} \sum_{s=1}^k d_{rs} \mathbf{u}_s \right) dx \leq \\ & \leq \delta_r (\lambda_{k+1} - \lambda_r)^3 \int_a^b \rho |\Phi_r|^2 dx + \frac{\lambda_{k+1} - \lambda_r}{\delta_r} \int_a^b \left(\frac{1}{\sqrt{\rho}} D\mathbf{u}_r - \sqrt{\rho} \sum_{s=1}^k d_{rs} \mathbf{u}_s \right)^2 dx = \\ & = \frac{\lambda_{k+1} - \lambda_r}{\delta_r} \left[\int_a^b \frac{1}{\rho} |D\mathbf{u}_r|^2 dx - 2 \sum_{s=1}^k d_{rs} \int_a^b \mathbf{u}_s^T D\mathbf{u}_r dx + \sum_{s,q=1}^k d_{rs} d_{rq} \int_a^b \rho \mathbf{u}_s^T \mathbf{u}_q dx \right] + \\ & \quad + \delta_r (\lambda_{k+1} - \lambda_r)^3 \int_a^b \rho |\Phi_r|^2 dx = \\ & = \delta_r (\lambda_{k+1} - \lambda_r)^3 \int_a^b \rho |\Phi_r|^2 dx + \frac{\lambda_{k+1} - \lambda_r}{\delta_r} \left[\int_a^b \frac{1}{\rho} |D\mathbf{u}_r|^2 dx - \sum_{s=1}^k d_{rs}^2 \right]. \quad (2.16) \end{aligned}$$

Substituting (2.13) into (2.16), we obtain

$$\begin{aligned} & -2(\lambda_{k+1} - \lambda_r)^2 \int_a^b \Phi_r^T D\mathbf{u}_r dx \leq \\ & \leq \delta_r (\lambda_{k+1} - \lambda_r)^2 \left[\omega_r + \sum_{s=1}^k (\lambda_r - \lambda_s) b_{rs}^2 \right] + \frac{\lambda_{k+1} - \lambda_r}{\delta_r} \left[\int_a^b \frac{1}{\rho} |D\mathbf{u}_r|^2 dx - \sum_{s=1}^k d_{rs}^2 \right]. \quad (2.17) \end{aligned}$$

Combining (2.15) and (2.17), and taking sum on r from 1 to k , we derive

$$\sum_{r=1}^k (\lambda_{k+1} - \lambda_r)^2 \int_a^b |\mathbf{u}_r|^2 dx + 2 \sum_{r,s=1}^k (\lambda_{k+1} - \lambda_r)^2 b_{rs} d_{rs} \leq$$

$$\begin{aligned} &\leq \sum_{r=1}^k \delta_r (\lambda_{k+1} - \lambda_r)^2 \omega_r + \sum_{r,s=1}^k \delta_r (\lambda_{k+1} - \lambda_r)^2 (\lambda_r - \lambda_s) b_{rs}^2 + \\ &+ \sum_{r=1}^k \frac{1}{\delta_r} (\lambda_{k+1} - \lambda_r) \int_a^b \frac{1}{\rho} |D\mathbf{u}_r|^2 dx - \sum_{r,s=1}^k \frac{1}{\delta_r} (\lambda_{k+1} - \lambda_r) d_{rs}^2. \end{aligned} \quad (2.18)$$

Since the sequence $\{\delta_r\}$ is nonincreasing, one can get

$$\sum_{r,s=1}^k \delta_r (\lambda_{k+1} - \lambda_r)^2 (\lambda_r - \lambda_s) b_{rs}^2 \leq - \sum_{r,s=1}^k \delta_r (\lambda_{k+1} - \lambda_r) (\lambda_r - \lambda_s)^2 b_{rs}^2. \quad (2.19)$$

Then we can eliminate the unwanted terms in both sides of (2.18) by using (2.19) and

$$\sum_{r,s=1}^k (\lambda_{k+1} - \lambda_r)^2 b_{rs} d_{rs} = - \sum_{r,s=1}^k (\lambda_{k+1} - \lambda_r) (\lambda_r - \lambda_s) b_{rs} d_{rs}.$$

Thereby, (2.2) is true.

Lemma 2.1 is proved.

Now we give the proof of Theorem 1.1.

Proof of Theorem 1.1. It is not hard to find

$$0 < \tau \leq \int_a^b |\mathbf{u}_r|^2 dx = \int_a^b \frac{1}{\rho} \rho |\mathbf{u}_r|^2 dx \leq \sigma. \quad (2.20)$$

By virtue of (1.2), we have

$$\begin{aligned} \lambda_r &= \int_a^b \mathbf{u}_r^T \left[(-1)^l D^l (A(x) D^l \mathbf{u}_r) \right] dx = \int_a^b D^l \mathbf{u}_r^T A(x) D^l \mathbf{u}_r dx = \\ &= \int_a^b \sum_{i,j=1}^n a_{ij}(x) D^l u_{ri}(x) D^l u_{rj}(x) dx \geq \varsigma \int_a^b |D^l \mathbf{u}_r|^2 dx. \end{aligned}$$

It yields

$$\int_a^b |D^l \mathbf{u}_r|^2 dx \leq \frac{1}{\varsigma} \lambda_r. \quad (2.21)$$

Using (2.21) and the following inequality (see Lemma 2.1 of [4])

$$\int_a^b |D^t \mathbf{u}_r|^2 dx \leq \sigma^{1-t/l} \left(\frac{\lambda_r}{\varsigma} \right)^{t/l},$$

we can deduce

$$\int_a^b \frac{1}{\rho} |D\mathbf{u}_r|^2 dx \leq \sigma^{2-1/l} \left(\frac{\lambda_r}{\varsigma}\right)^{1/l}, \quad (2.22)$$

$$\int_a^b D^{l-1} \mathbf{u}_r^T A(x) D^{l-1} \mathbf{u}_r dx \leq \zeta \int_a^b |D^{l-1} \mathbf{u}_r|^2 dx \leq \zeta \sigma^{1/l} \left(\frac{\lambda_r}{\varsigma}\right)^{1-1/l} \quad (2.23)$$

and

$$\begin{aligned} - \int_a^b D^l \mathbf{u}_r^T A(x) D^{l-2} \mathbf{u}_r dx &\leq \zeta \left(\int_a^b |D^{l-2} \mathbf{u}_r|^2 dx \right)^{1/2} \left(\int_a^b |D^l \mathbf{u}_r|^2 dx \right)^{1/2} \leq \\ &\leq \zeta \sigma^{1/l} \left(\frac{\lambda_r}{\varsigma}\right)^{1-1/l}. \end{aligned} \quad (2.24)$$

Using (2.23) and (2.24), we obtain

$$\begin{aligned} \omega_r &= l^2 \int_a^b D^{l-1} \mathbf{u}_r^T A(x) D^{l-1} \mathbf{u}_r dx - l(l-1) \int_a^b D^l \mathbf{u}_r^T A(x) D^{l-2} \mathbf{u}_r dx \leq \\ &\leq l(2l-1) \zeta \sigma^{1/l} \left(\frac{\lambda_r}{\varsigma}\right)^{1-1/l}. \end{aligned} \quad (2.25)$$

Therefore, substituting (2.20), (2.22), and (2.25) into (2.2), we get

$$\begin{aligned} &\tau \sum_{r=1}^k (\lambda_{k+1} - \lambda_r)^2 \leq \\ &\leq l(2l-1) \zeta \sigma^{1/l} \sum_{r=1}^k \delta_r (\lambda_{k+1} - \lambda_r)^2 \left(\frac{\lambda_r}{\varsigma}\right)^{1-1/l} + \sigma^{2-1/l} \sum_{r=1}^k \frac{1}{\delta_r} (\lambda_{k+1} - \lambda_r) \left(\frac{\lambda_r}{\varsigma}\right)^{1/l}. \end{aligned} \quad (2.26)$$

Putting

$$\delta_r = \frac{\delta}{l(2l-1) \zeta \sigma^{1/l} \lambda_r^{1-1/l} \varsigma^{-1+1/l}}$$

in (2.26), we have

$$\tau \sum_{r=1}^k (\lambda_{k+1} - \lambda_r)^2 \leq \delta \sum_{r=1}^k (\lambda_{k+1} - \lambda_r)^2 + \frac{1}{\delta} l(2l-1) \zeta \sigma^2 \varsigma^{-1} \sum_{r=1}^k (\lambda_{k+1} - \lambda_r) \lambda_r. \quad (2.27)$$

Then, putting

$$\delta = [l(2l-1)\zeta]^{1/2} \sigma \varsigma^{-1/2} \left[\sum_{r=1}^k (\lambda_{k+1} - \lambda_r) \lambda_r \right]^{1/2} \left[\sum_{r=1}^k (\lambda_{k+1} - \lambda_r)^2 \right]^{-1/2}$$

in (2.27), we obtain

$$\tau \sum_{r=1}^k (\lambda_{k+1} - \lambda_r)^2 \leq 2[l(2l-1)\zeta]^{1/2} \sigma \zeta^{-1/2} \left[\sum_{r=1}^k (\lambda_{k+1} - \lambda_r)^2 \sum_{r=1}^k (\lambda_{k+1} - \lambda_r) \lambda_r \right]^{1/2}. \quad (2.28)$$

This yields (1.7).

Theorem 1.1 is proved.

Proof of Theorem 1.2. Since the sequence $\{\delta_r\}$ is nonincreasing, we can obtain

$$\begin{aligned} & \tau \sum_{r=1}^k (\lambda_{k+1} - \lambda_r)^2 \leq \\ & \leq l(2l-1)\zeta \sigma^{1/l} \delta \sum_{r=1}^k (\lambda_{k+1} - \lambda_r)^2 \left(\frac{\lambda_r}{\zeta}\right)^{1-1/l} + \sigma^{2-1/l} \frac{1}{\delta} \sum_{r=1}^k (\lambda_{k+1} - \lambda_r) \left(\frac{\lambda_r}{\zeta}\right)^{1/l} \end{aligned} \quad (2.29)$$

by taking $\delta_r = \delta$ in (2.26) for $r = 1, \dots, k$. Putting

$$\delta = [l(2l-1)\zeta]^{-1/2} \sigma^{1-1/l} \zeta^{1/2-1/l} \left[\sum_{r=1}^k (\lambda_{k+1} - \lambda_r) \lambda_r^{1/l} \right]^{1/2} \left[\sum_{r=1}^k (\lambda_{k+1} - \lambda_r)^2 \lambda_r^{1-1/l} \right]^{-1/2}$$

in (2.29), we can derive (1.8).

Theorem 1.2 is proved.

1. Cheng Q.-M., Yang H. C. Bounds on eigenvalues of Dirichlet Laplacian // Math. Ann. – 2007. – **337**, № 1. – P. 159–175.
2. Courant R., Hilbert D. Methods of mathematical physics.. – New York: Intersci. Publ., 1989.
3. Henrot A. Extremun problems for eigenvalues of elliptic operators.. – Basel: Birkhäuser, 2006.
4. Jia G., Huang L. N., Liu W. On the upper bounds of eigenvalues for a class of systems of ordinary differential equations with high orders // Int. J. Different. Equat. – 2011. – doi:10.1155/2011/712703.
5. Kostenko N. M. On the spectrum of a system of differential equations // Ukr. Math. J. – 1970. – **22**, № 2. – P. 139–147.
6. Ljung L. Recursive identification // Stochastic Systems: The Mathematics of Filtering and Identification and Applications / Eds M. Hazewinkel and J. C. Willems. Reidel, 1981. – P. 247–283.
7. Maybeck P. S. Stochastic models, estimation, and control, III. – New York: Acad. Press, 1982.
8. Mokeichev V. S. Eigenvalues of a system of equations in a Hilbert space // J. Math. Sci. – 1976. – **42**, № 3. – P. 1696–1703.
9. Sun H.-J. Yang-type inequalities for weighted eigenvalues of a second-order uniformly elliptic operator with a nonnegative potential // Proc. Amer. Math. Soc. – 2010. – **138**, № 8. – P. 2827–2838.
10. Yang H. C. An estimate of the difference between consecutive eigenvalues. – Preprint IC/91/60, Trieste, 1991.

Received 22.11.11